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ENVIRONMENTAL STUDIES
3% EXAM/COMMON/1008/Nov'17

Duration : 1hr

Choose the correct answer: -

10.

11.

12.

13.

The word NOISE is derived from the Latin word

a) NAUSEA b) NOISEA

c) NOSEA d) NONE
Frequency is measured in

a) Henry b) Hertz

c) Decibel d) All

Industrial noise is known as.... noise
a) commercial b) domestic

c) occupation d) none

Common level of noise in industries are
a)80to120db b) 90 to 130 db

c) 100 to 140db d) 110 to 150db
Continues noise may lead to

a) Nausea b) deafness

c) dumbness d) none

Loss of hearing from noise is known as
a) Feeling of sickness

b) scirroses

c) cholera

d) Silicosis

Loudness is measured in .............
a)dB b) HZ
c)m/s d) Nm

... pollution affects sharp hearing abilities of
birds.

a) Air b) water
c) noise d) soil
Pleasant voice is called

a) noise b) sound
c) both d) none

People can hear frequency in between
a) 10to 10000 Hz  b) 20 to 20000 Hz
c) 30 to 30000 Hz d) none

Frequency of sound in air
a)110 m/s b) 220 m/s
c) 330 m/s d) 440 m/s

According to WHO, the limit of sound in
industries is

a)65db b) 75 db

c) 85 db d)95db

Level of sound in office

a)10db b) 30 db

c) 50 db d) 70 db
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Level of sound in normal conversation
a)20db b) 40 db

c) 60 db d) 80 db

Gaseous pollutant exist in the form of ......
a) solid b) liquid

c) gas d) all

Sulphor reacts with water to form .............
a) Sulphuricacid  b) sulphor hydroxide
c) sulphonicacid  d) none

Bronchial asthma is due to .............

a) sulphor b) hydro carbons

c) nitrocarbons d) none

Colour of ozone gas is

a) red b) green

c) blue d) yellow

Acid rain is also known as

a) Acid jet b) acidic activity

c) acid composition d) acid deposition
Acid rain is measured using a scale called
a) ph b) hb

c)cm d) pm

Thin ozone is called

a) Ozone hole b) ozone deep

c) ozone mark d) ozone light
Photochemical is .... Air pollutant.

a) primary b) secondary

c) tertiary d) none

..... produces green house effect.

a) Carbon monoxide b) carbon dioxide
c) carbon trioxide d) none

..... are included in green house gases.

a) CFC b) DHL

c) HCL d) ALL

Tobacco smoke decrease ........ Function.
a) eyes b) nose

c) legs d) lungs

During photosynthesis, trees produce .......
a) Oxygen

b) Carbon dioxide
c) Carbon mono-oxide

d) all

Air pollution means

a) Dirty air b) clean air
c) both d) none
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28. Which gas reduce the ability of hemoglobin 40. River dumping increase the risk of
a) Carbon mono oxide a) Earthquake b) flood
b) carbon dioxide c) volcano d) all
c) carbon trioxide 41. Water pollution increase
d) none a) infections b) constipation
29. Water pollution means c) diarrhea d) all
a) Average water quality 42. Water pollution affects photosynthesis in
b) poor water quality a) Aquatic plants  b) sea plants
c) good water quality c) marine plants  d) all
d) none 43. Groundwater contamination is
30. Freezing point of water is a) reversible b) irreversible
a)32F b)42 F c) both d) none
c)52F d)62F 44. Water occurs as gas in
31. Boiling point of water a) fog b) steam
a) 232 F b) 222 F c) cloud d) all
c)202 F d) 212 F 45. When did BP oil spill occur?
32. Mercury & Cadmium are used in a) 2010 b) 2011
a) batteries b) heaters c) 2012 d) 2013
c) refrigerators d) motors 46. Who constituted central Ganga authority?
33. Blue baby disease is caused by a) Indra Gandhi b) Rajiv Gandhi
a) methane b) ethane c) Sonia Gandhi d) Sanjay Gandhi
c) propane d) butane 47. Which disease caused by parasitic protozoa?
34. ltai-ltai disease is caused due to.... a) Giardiasis b) Typhoid
a) lead b) nickel c) Coli form d) none
c) cadmium d) none 48. Date of nuclear bomb attack on Hiroshima is
35. Full foam of COD is a) 06-05-1945 b) 06-06-1945
a) composition of demand c) 06-07-1945 d) 06-08-1945
b) consumer of demand 49. Lung cancer is caused by............ pollution
c) chemical oxygen demand a) air b) water
d) none c) noise d) soil
36. Water present in human body is 50. X-ray are source of ............. pollution
a) 60% b) 65% a) radioactive b) Strontium
c) 70% d) 75% c) both d) none
37. Hard water contains salts of
a) Calcium b) magnesium
c) both d) none
38. Best wet land in the world is
a) Harike patan  b) Ganga
c) both d) none
39. Fluoride pollution mainly affects
a) nose b) ear
c) teeth d) eyes
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